

A11926902 SEFMLS© 2026



**\$12,750,000**

## **19651 RIVERSIDE DR, JUPITER, FL, 33469**

<https://ritterproperties.com>

Nestled on nearly one acre of pristine riverfront, this exceptional estate offers breathtaking wide-water views facing south. The main residence features 4 spacious bedrooms, designed to capture natural light and the serene beauty of the river. A charming two-story guest house provides ultimate flexibility, with 2 separate living areas each with a private bedroom, and [...]

- 6 beds
- 5 baths
- Residential
- Single Family Residence
- Active
- 5600 sq ft

---

### **Basics**



**Date added:** Added 3 months ago

**Type:** Residential

**Bedrooms:** 6 beds

**Half baths:** 1 half bath

**Area:** 5600 sq ft

**SubdivisionName:** Rivercrest

**GarageSpaces:** 3

**ListAOR:** Miami Association of REALTORS®

**Category:** Single Family Residence

**Status:** Active

**Bathrooms:** 5 baths

**Total rooms:** 10

**Lot size, sq ft:** 42509 sq ft

**ListOfficeName:** Waterfront Properties & Club C

**View:** River

**MLS ID:** A11926902

---

## Rooms



Room type	Dimensions	Area	Length	Width
PrimaryBedroom	20.8 x 16.3	339.04	20.8	16.3
Kitchen	9.7 x 6.8	65.96	9.7	6.8
DiningRoom	18.1 x 18.8	340.28	18.1	18.8
Other Room	14.3 x 13	185.9	14.3	13
Other Room	13.2 x 11.1	146.519999999	13.2	11.1
LivingRoom	21 x 22	462	21	22
Kitchen	26.8 x 20.4	546.72	26.8	20.4
SecondBedroom	15.4 x 13	200.2	15.4	13
FourthBedroom	14.7 x 12.3	180.81	14.7	12.3
ThirdBedroom	14.2 x 12.11	171.962	14.2	12.11

## Building Details

**Cooling features:** Central Air, Zoned

**ArchitecturalStyle:** Detached, Two Story

**Building Name:** Rivercrest

**Exterior material:** CBS Construction

**Parking:** Driveway

**Year built:** 1994

**NewConstructionYN:** No

**Heating:** Central, Zoned

**Roof:** Other



---

## Amenities & Features

**Features:** Bar, Den/Library/Office, Entrance Foyer, Fireplace, French Doors, Maid/In-Law Quarters, Pantry, Utility Room/Laundry, Walk-In Closet(s)

**CommunityFeatures:** None

**ExteriorFeatures:** Lighting

**Waterfront available:** Yes

**AttachedGarageYN:** Yes

**PoolPrivateYN:** No

**Amenities:** Dishwasher, Disposal, Dryer, Gas Range, Refrigerator, Wall Oven, Washer

**WindowFeatures:** Complete Impact Glass

**PoolFeatures:** In Ground

**GarageYN:** Yes

**CoolingYN:** Yes

**FireplaceYN:** Yes

